GOES X-ray Flux

17 Apr 2015 (DOY

@ X
S M
Wie R NSV S S S
o}
© B
A
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. ESP 0-7 nm
t 2.0 7
S r ]
€ 1.5} .
o I i
Q r. -~
S C -
£ 05L ]
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
—~ m0|uw nm
e 2.5F E
~ E 3
= 2.0F =
E E E
o 1.5E E
(8] E =
C e 3
..m A.Om —N =
2 osE 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XX 13.28 nm (log T=6.97)
t 2.25[0 7
> .
€ 1.75F .
o C i
€ 1.25F .
..w - .
£ 0.75L .
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81)
t 2.25[0 7
> .
€ 1.75F .
o C i
€ 1.25F .
5 L ]
£ 07sL ]
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)

= Fe XVI 33.54 nm (log T=6.43)
M O.OVAH +% 7 ]
£ 0.072f i .
3 - _ .
m 0.070 N e e ]
e] o N +..+M+ .
£ 0.068L i N
18:00 22:00 06:00 10:00 14:.00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIV 21.13 nm (log T=6.27)
t 2.25[0 7
> .
€ 1.75F .
o r ]
£ 1.25f .
w - -
£ 0.75L .
18:00 22:00 06:00 10:00 14:.00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIl 19.51 nm (log T=6.13)
t 2.25[0 7
> .
€ 1.75F .
o C ]
£ 1.25f .
3 C ]
£ 0.75L .
18:00 22:00 06:00 10:00 14:.00 18:00 22:00 02:00 06:00
Time (UT)
. Fe IX 17.11 nm (log T=5.81)
t 2.25[0 7
> .
€ 1.75F .
o C ]
£ 1.25f .
5 C ]
£ 07sL N
18:00 22:00 06:00 10:00 14:.00 18:00 22:00 02:00 06:00
Time (UT)
N He Il 30.38 nm (log T=4.70)
t 2.25[0 7
> .
€ 1.75F .
o r ]
£ 1.25f .
5 C ]
£ 07sL N
18:00 22:00 06:00 10:00 14:.00 18:00 22:00 02:00 06:00
Time (UT)



Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

0
0

0
0

Irradiance (mW/m?)

Irradiance (mW/m?)

ESP 0—-7 nm
2.0 : :
1.5 :& =
1.0 2 AN Awf-sﬂ&_ =
0.5k ﬁ
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00
Time (UT)
ESP 17.1 nm
B47E -
833 f\ -
820 o g AT\ -~ “nd Mvvﬁa
807
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00
Time (UT)
ESP 25.7 nm
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00
Time (UT)
ESP 30.4 nm
1.02 -
1.00 E o
0.98 W% =

06:00

0.96
18:00 22.00 02:00 06:00 10:00 14;00 18:00 22:00 02:00 06:00
Time (UT)
ESP 36.6 nm
1.25F
0.75E
0.25 %M PP . %m.m
0.25
18:00 22.00 02:00 06:00 10:00 14;00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—P 121.6 nm
8.3 : :
8.2F =
8.1F =
8.0k =
18:00 22.00 02:00 06:00 10:00 14;00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

ks Fe XX 13.28 nm (log T=6.97)
> 2.25F =
E175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
Fe XX 72.16 nm (log T=6.96)
1.12x107°F =
1.06x107°F -
9.89x107*F -
9.22x107*E =
18:00 22:00 02:00 06:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
Fe XX 56.79 nm (log T=6.96)
1.58x107°F ™ =
1.56x107°F -
1.54x1073F -
1.52x107%E =
18:00 22:00 02:00 06:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
Fe XIX 59.22 nm (log T=6.89)
9.13x107*E =
8.87x107*E -
8.60x107* -
8.33x107*E 4 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ks Fe XVIIl 9.39 nm (log T=6.81)
> 2.25F =
E175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
S XIV 44.57 nm (log T=6.44)
2.05x107°F T IF =
2.00x107*E A =
-3F A =
1.95x107° = EA ST L -
1.90x107°E Lt 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
E Fe XVI 36.08 nm (log T=6.43)
> 0.046F v =
E 0.045F =
S 0.044F -
£ 0.043E =
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£
S 0.074F E
E oo72F =
8 0.070F =
2 0.068E =
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

Fe XV 28.42 nm (log T=6.30)

Time (UT)

€
> 2.25F 3
E 175E =
8 1.25F =
2 0.75E =
2 1800 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
Si XIl 49.94 nm (log T=6.29)
0.0288 F L 3
0.0286 F % =
0.0284 F =
0.0282E =
18:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
Time (UT)
Si Xl 52.10 nm (log T=6.28)
0.0104 F n 3
0.0103F -, =
= o 3
0.0102F b =
0.0101kE &0 3
18:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
Time (UT)
ks Fe XIV 21.13 nm (log T=6.27)
> 2.25F =
= 4 c 3
E 175E =
8 1.25F =
2 0.75E =
2 1800 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
ks Fe Xl 20.20 nm (log T=6.19)
> 2.25F =
= 4 c 3
E 175E =
8 1.25F =
2 0.75E =
2 1800 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
E Fe XIl 19.51 nm (log T=6.13)
> 2.25F =
E 175E =
8 1.25F =
2 0.75E -
2 1800 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
Mg X 60.98 nm (log T=6.10)
0.0178F " 3
0.0173F =
0.0168 F 3
0.0163E =
18:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
Time (UT)
ks Fe XI 18.04 nm (log T=6.07)
> 2.25F =
= 4 c 3
E 175E =
8 1.25F =
2 0.75E =
2 1800 06:00 10:00 14:00 18:00 22:00 02:00 6:




Time (UT)

£ Mg X 62.49 nm (log T=6.05)
> 0.0170F =
E 0.0168F =
S 0.0166 F =
2 0.0164E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Mg IX 36.81 nm (log T=5.99)
= 0.070F - 3
E 0.069F ; =
8 0.068F =
£ 0.067E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe X 17.72 nm (log T=5.99)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Ne VIl 77.04 nm (log T=5.81)
> 0.0150F =
E 0.0145F =
$ 0.0140F =
2 0.0135E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe IX 17.11 nm (log T=5.81)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£
> 0.0166F 3
E o.0164F =
S 0.0162F =
5 0.0160E -
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe VIl 13.12 nm (log T=5.57)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O VI 103.19 nm (log T=5.47)
> 0.078F 3
E 0.076F =
8 0.074F =
£ 0.072E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



V 62.97 nm (log T=5.37)

Time (UT)

E
> 0.063F N =
E 0.062F e =
S 0.061F v AL ]
2 0.060E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O IV 79.02 nm (log T=5.19)
> 0.0140F =
E 0.0135F =
$ 0.0130F =
2 0.0125E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ O IV 55.44 nm (log T=5.19)
> 0.02733F =
E 0.02707F =
8 0.02680F =
2 0.02653E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O Il 59.96 nm (log T=4.92)
> 0.0052F =
E 0.0051F =
$ 0.0050 F =
-2 0.0049E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 52.58 nm (log T=4.92)
> 2.75x107°FE =
E 2.70x107E =
S 2.65x107°F =
o -3 -
2 2.60x10
°
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e C Il 97.70 nm (log T=4.84)
> 0.180F 3
C * =
E 0.175F 1 =
= + =
8 0.170F =
£ 0.165E : =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 25.63 nm (log T=4.75)
> 2.25F =
E 175 =
8 1.25F =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 30.38 nm (log T=4.70)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Time (UT)

E
~
= 0.0350F -
E 0.0345F 3
$ 0.0340F =
2 0.0335E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O Il 71.85 nm (log T=4.48)
> 0.0024F =
E 0.0023F =
$ 0.0022F =
2 0.0021E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ He | 58.43 nm (log T=4.16)
> 0.067F =
E 0.065F E
S 0.063F =
£ 0.061E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E H 1 102.57 nm (log T=3.84)
> 0.107F =
E 0.102F * =
$ 0.098F W =
£ 0.092E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
“E
= 0.0215F 3
E 0.0210F 3
$ 0.0205F =
-2 0.0200E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e H 1 94.97 nm (log T=3.84)
> 0.0127F =
E 0.0123F =
S 0.0118F =
2 0.0112E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e He | 53.70 nm (log T=3.84)
> 0.0068F T =
E 0.0067F =
S 0.0066 F =
-2 0.0065E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

AlA 94 Channel

225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 131 Channel
225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 171 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 193 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 211 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlA 304 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 335 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

MEGS ESP 17.1 nm

2.25F =
1.75F -
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 25.7 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 30.4 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 36.6 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?®) Irradiance (mW/m?)

Irradiance (mW/m?)

MEGS—A1
0.75F -
0.25F -
— g —
-0.25E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—-A2
1.25F -
0.75F -
0.25F -
— g —
-0.25E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—B Short
0.398F . =
0.393F ] E
0.388 F § =
0.383E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—-B Middle
0.237E " -
= + T -
0.233F -
0.228 F Al -
0.223E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—-B Long
0.962F : 3
0.949F £ -
0.935E W e
0.922E o 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



